HIOKI 3L ®Ic

Wb (i3 55%

25040 C D7Vl HIOKI Z5040 BIER 2 > K& SEEVE,
Eff‘:;zéfi\ E;;i;\fi; ;?i%ﬁﬂi;g;é}:aéift:gﬁ RAET2H0 ERNTARCMA X8 mmbL L v 4

== A » [N [ -7c = _H. = ==
BEX&# > K IRV REICREL T L, 1 x%>E0RLRELRE450 (01) DEEDRLRE

FIXED STAND a5 LR850 (-01) 8L 3

i _ RZLICHT BRE
Bik=iPAE/ Instruction Manual AETE URIOEAES SUBREOLALENTO

JA/EN SICKAD L TRELET,

Feb. 2020 Revised edition 1 s Bl LA, (E-ENREEXES BENDDH
Feb. 2020 Revisod e WM /g DELETRE e

¥ = HEBEREHDWIBIZE TN HZczm L&
Ii I-:IE 3—0

HIOKI
www.hioki.co.jp/ =

A1t T386-1192 REFE EHM/R 81

IGOEBWVWEDLE . .
2%;01;6-72-0560 900~1200,1300~ 1700 Azald. LR8450, LR8450-01 XEUNAOH—%EELRE(C
TEL 0268-28-0560 FAX 0268-28-0569  info@hioki.co jp BETBIEOHDIAZYRTY, NXIXIY B LTE

EBE - KREOEBEWEHE . BATEEd,
CHERBELE (RERE) $rRBEOOEENSET FE
BEWEDLHRY—ERROXT o
TEL 0268-28-1688  cs-info@hioki.co.jp BEE 1801JA 5*&
e - %17 BHEBHEKASH Printed in Japan 13N N, R . E15 = A< w
G asmmiin sy kussy. 2 ;3& /5 k& LREI845_; 0D EBEENSHEDOBL
CABOTHAREFEREFT B ENBOET, . _ _ ) . X5mmTEET S
- REBICIIEEIC L DFESNZABHE . = 5 BT -5, B ZWEIER Y =5\ VAN
-ZK%@WE’E%%‘GEEE-?Ei%%&gg%??;;ﬂ:biﬁo A BFITICE \i L7e5. BsHIchiR d(\\:o)E%b\ ¢
CABICTHSNTVRAMS - BRAREE. SHOBELREFHIETT. WHERLTHS SHEALESIL., A— BEELRDHIESIE. :I EE
. /L B
BELE (REE) h&FOHODOE RUICTEESTET L, .
& (RIER) D&EF D OEZEHL ERCIES 2 M3 X 5 mm o L% ERT 3
Rt E HIOKI m@mw o EELUNDR L =HERAT 3. b wiEL=D. X
v waws - = 23 15 LR8450 (-01) B4 N DT 35 ENHS
§ NS 3 EEfE
‘ DEY,
BEREOTHEN : T LI RN R cerrrrnnnnneeeeiiii ettt 1
EE TN

BERADHBEN

RABEFBETVELERADT, RTIIKREL T LET L,
- g - WEES - BAB 8L0 TTER - BEHL ZTTRALLEE W,
HTRAWLEEE UBABRRERY —EXORHE L VORIBOBNOHICERALET,

AR OBIGICH S TREICAR LT EZABLET . FRIDMWELBEE. BBLROEICTE
BTV UTORIEABICHV. ARREEBIIBMRICKBLE T, IEROBIS, FEEZRRE
=W\,

RIARS
. REEAER . ARSONEBCEET S EZRIELET, REHHEBABRN S 3FHTYT. BABITH
BIHEEE. ARROMEFA (WEESOL4HT) 15 3FHERIEMMELET,
2. FERICACTTTY—HRBLTWRHBA. ZOAC 7Y 75 —DRIMHEBEARLS 1 FH T, N
3. AIEMER & DREORIEHARIE. Rt iERELTWET, |:| jg L M3 X 5 00100 R R R R R PR PP PR RE PR 2
4. TNZNORIEPBAICEARREEAC TH 75— HELIHE. ZOMEOEEIEICH D & 8th
BT LTcE E . ARRXLBAC 7Y 79— EHTEREBHRERBUET, @ @ &

5. LT OHE, B2 E RECEXCIFRRKBORIEONRIL LET,

-1EFER. BESNRGE OB IAE 5

RER BRBBLLEOSELEE O] ERREHEREE (ARZE) -vvveeerrrereeemmmmeeemnnneeeaninreaaniineans 1
3. BEVWEFROER, BT, BRELICLIBEEIEG
-4 BUREIRE, ARERINL, AR ECRHSNNRICR T 2RBEY/RIRD RIS &L 2 B85 L4
5ED. MRSABRLETERSNLRT - RBRER Sl IEICKDRE LB IBE

6. KL BKE, R EE BRORE (BE. BREGLE). BE - RE. BEEER Z0RIOFA

BT & B EE RS . Xy
7 NEORE (EROME. Z. BEHE) ﬁq— ° 'U' — E z
-8. ZDIEMNZDEEHIELICH D & HRSNBRWEE L 1B

6. LTOHEER. AUREFRTORRALE LET, EE RERESEMOLET,

S1LBHDSN OB, #B8. B UK RBEANFRRZEELBE. BYELISE

2. FHeAR (FEA. MZEA. RYNA. ERA. EMtlEARE) OBBICARRERFAATHERY S ° zkggo);ﬁn% (\: é (\: :L\_; ‘;\ i ‘5 73\ L\'T_E L:Zkﬁ\q:llléi%ﬁu%@\ \y

3 ManLaETECEETS
EHTERLIIMTELTVEEAD T, HRS%E OF
ATV,

HSEHRQLC M4 X8 mmilE

T, BRICEIC @BV LR A BWSES &
. BREEALI LI DREUBLRICN U TR, TORKOBEENKILIC AR U 7158 =5 i =
 BOMASS e AL ET. L STORAH AR BREET. BARLTRE L, e e
ABOBE, BREBIBLD, YT PRV VB, ANZEE
B AMBEEWCERUL (o o s BROBREAD) FUELADREADRE FERALBVWTLEE L, = s “ 1=
Vs — TR ERBLICER. SLUHS Sl & R EHTERVES i i N = o .Emzayh‘is gﬁ@@%@t‘ubgb\b EZHYO{T_I'
P len mraseamnssnmna. s TR, HIELBONG L E . BELE (REE) AEFOOEE 3
JoEAkh : . W=V EbhbE<IZEL,
- S HEsHrt= CKEERET S LS MALANESICRELTCRE @ S D IRA -
https:/iwww.hioki.co.jp/ A\HUL - < > = _d‘ Db - < HE}% Iz J: D N A%%& i TC LEJZZ'K%EU)EEZ?E % % | 3 E [
To06 JAs Vo BXFOIBICOVWTIIREEL DR E T, BEEICHT TEZNABD ET,

N3HEIF. WERARZEERZI TSV,

HIOKI Z5040A960-01



HIOKI

25040

FIXED STAND

Instruction Manual
EN

Feb. 2020 Revised edition 1
Z5040A960-01 20-02H

HIOKI

All regional

contact
information
http:/www.hioki.com
HIOKI E.E. CORPORATION
81 Koizumi, Ueda, Nagano 386-1192 Japan 2402 EN

Edited and published by HIOKI E.E. CORPORATION Printed in Japan

+Contents subject to change without notice.

+This document contains copyrighted content.

+It is prohibited to copy, reproduce, or modify the content of this document without permission.

+Company names, product names, etc. mentioned in this document are trademarks or
registered trademarks of their respective companies.

Europe only
*EU declaration of conformity can be downloaded from our website.
+Contact in Europe:  HIOKI EUROPE GmbH

Helfmann-Park 2, 65760 Eschborn, Germany hioki@hioki.eu

Warranty Certificate HIOKI

Model Serial number Warranty period

Three (3) years from date of purchase (___/___ )

Customer name:
Customer address:

Important
- Please retain this warranty certificate. Duplicates cannot be reissued.
+ Complete the certificate with the model number, serial number, and date of purchase, along with your name and
address. The personal information you provide on this form will only be used to provide repair service and information
about Hioki products and services.

This document certifies that the product has been inspected and verified to conform to Hioki's standards.
Please contact the place of purchase in the event of a malfunction and provide this document, in which case Hioki will
repair or replace the product subject to the warranty terms described below.

Warranty terms
1. The product is guaranteed to operate properly during the warranty period (three [3] years from the date of purchase).
If the date of purchase is unknown, the warranty period is defined as three (3) years from the date (month and year) of
manufacture (as indicated by the first four digits of the serial number in YYMM format).
2. If the product came with an AC adapter, the adapter is warrantied for one (1) year from the date of purchase.
3. The accuracy of measured values and other data generated by the product is guaranteed as described in the product
specifications.
4. In the event that the product or AC adapter malfunctions during its respective warranty period due to a defect of
workmanship or materials, Hioki will repair or replace the product or AC adapter free of charge.
5. The following malfunctions and issues are not covered by the warranty and as such are not subject to free repair or
replacement:
-1. Malfunctions or damage of consumables, parts with a defined service life, etc.
-2. Malfunctions or damage of connectors, cables, etc.
-3. Malfunctions or damage caused by shipment, dropping, relocation, etc., after purchase of the product
-4. Malfunctions or damage caused by inappropriate handling that violates information found in the instruction manual or
on precautionary labeling on the product itself
-5. Malfunctions or damage caused by a failure to perform maintenance or inspections as required by law or
recommended in the instruction manual
-6. Malfunctions or damage caused by fire, storms or flooding, earthquakes, lightning, power anomalies
(involving voltage, frequency, etc.), war or unrest, contamination with radiation, or other acts of God
-7. Damage that is limited to the product's appearance (cosmetic blemishes, deformation of enclosure shape,
fading of color, etc.)
-8. Other malfunctions or damage for which Hioki is not responsible
6. The warranty will be considered invalidated in the following circumstances, in which case Hioki will be unable to perform
service such as repair or calibration:
-1. If the product has been repaired or modified by a company, entity, or individual other than Hioki
-2. If the product has been embedded in another piece of equipment for use in a special application (aerospace,
nuclear power, medical use, vehicle control, etc.) without Hioki's having received prior notice
7. If you experience a loss caused by use of the product and Hioki determines that it is responsible for the underlying issue,
Hioki will provide compensation in an amount not to exceed the purchase price, with the following exceptions:
-1. Secondary damage arising from damage to a measured device or component that was caused by use of the product
-2. Damage arising from measurement results provided by the product
-3. Damage to a device other than the product that was sustained when connecting the device to the product
(including via network connections)
8. Hioki reserves the right to decline to perform repair, calibration, or other service for products for which a certain amount
of time has passed since their manufacture, products whose parts have been discontinued, and products that cannot be

repaired due to unforeseen circumstances.
HIOKI E.E. CORPORATION

http://www.hioki.com 18-07 EN-3

Introduction

Thank you very much for choosing the Hioki 25040 Fixed
Stand. Preserve this manual carefully and keep it handy to
make full use of this product for a long time.

Safety notations

In this document, the risk seriousness and the hazard levels
are classified as follows.

Indicates a potentially hazardous situation
that may result in minor or moderate injury
to the operator.

/\ CAUTION

Indicates a potential risk of damage to the
product or to other property.

NOTICE

Overview

This product is a stand to used for mounting the LR8450/
LR8450-01 Memory HiLogger on a plane, such as a wall.
You can use this product for panel mounting of the LR8450/
LR8450-01.

Inspection

« When you open the package, carefully inspect the product
to ensure that everything is in good condition and that no
damage occurred during shipping. If the product seems to
have been damaged or does not work as specified, contact
your authorized Hioki distributor or reseller.

Package Contents

O Stand 1
O Screws (M3X5mm) ..o, 2
) @

O Instruction Manual (this document) ........................... 1

Maintenance and Service

« If the product becomes dirty, wipe the product clean with
a soft cloth slightly moistened with water or a neutral
detergent.

» Do not use organic solvents such as thinner or benzene,
which could discolor or deform the product.

« If the product seems to be damaged, contact your authorized

Hioki distributor or reseller.

* When transporting the product, pack it so that it may not
be damaged. Accidental damage suffered in transit is not
covered by the warranty. Attach a description of the issue
when sending out your product for repair.

How to Mount the LR8450 (-01)

Required items: Screws for wall mounting
(M4 x 8 mmorlonger) .........ccccvvvinnnne. 4

1 Align the female screws on the back of the LR8450
(-01) with the holes of the stand and place the
instrument.

2 Secure the LR8450 (-01) by tightening the supplied
screws (M3x5 mm) from the back of the stand.

NOTICE
H Use the M3x5 mm screws only.

o Using other screws can cause the LR8450 (-01) to be
damaged or to drop from the stand.

3 Mount the stand with the LR8450 (-01) attached
using four M4 screws.
Use commercially available screws. No panel mounting
screws are supplied.
Recommended screw: M4x8 mm or longer

/\ CAUTION
Bm Secure the fixed stand on a firm wall.

Mounting the stand with the LR8450 (-01) attached on
a wall of insufficient strength can cause bodily injury
or damage to the instrument as well as the stand.

HIOKI Z5040A960-01

/
Memo space






